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S17.A Verbs of Motion (Part One)

If you feel completely confused about how to say go in Russian, there’s a good reason for it: We’ve seen bits and
pieces of an explanation in previous lessons (e.g., XomiTh vs. é3quTh), but we really haven’t explained it in full
yet. The whole question of “Verbs of Motion” (as they are affectionately known in Russian) is a bit complicted,
but not nearly as difficult as many textbooks make it out to be. First we’ll look at the general notion of Verbs of
Motion, and then in this lesson we’ll focus on how to express a single round-trip (which is probably the most
common use of the word go).

Most of the verbs we have seen have come in a pair consisting of two forms, Imperfective and Perfective

read
tell
ask
Imperfective Perfective
47 OPOYUTAN+
qUTAN+ p L
TOBOPH+ CKazat
CITpaIIMBai+ CIpocH+

Verbs of Motion (VoM), a small but very important group of verbs, have three possible forms, still just one
Perfective, but two possible Imperfective forms: Imperfective Determined (Heading; Making One’s Way) and
Non-Determined (Non-Heading, Non-Making One’s Way). (In the chart below we use the Infinitive forms for
convenience’s sake. More on the forms below):

Verbs of Motion (VoM)

g0

Perfective
OUTH
oéxXarh

Imperfective

“NON-DETERMINED” “DETERMINED”
XOIATH UOTA
€3IUTh éxaTh

Pacckas: YacTtb CemHaguaTas (Fpammaruka)-1



S17.A.1

Story — Part 17 Grammar

Forms of Verbs of Motion

Non-Determined (Imperfective)

Stem XOIH+ €3+
Present XOKY €3Ky
XOIUIIb €31111b
XOIUT €31UT
XOaUM €31uM
x0auTe é3muTe
XOIAT €30AT
Past XOIHI é3mmn
XOIAIa é3amiia
XOIAIIO €31I1J1I0
XOIAITH €3 IMIIH
Infinitive XOIUTh é37UTh
Imperative x04(Te) ésmu(te)
Determined (Imperfective)
Stem {um+’ / mé+" (&)} {én+ / éxa+}
Present uny ény
UIENb 911113
nnét éner
UIEM énemM
nnére énere
UayT ényT
Past mén éxan
ia éxan
10 éxan
LITH éxain
Infinitive HITH éxatp
Imperative umi(Te) noesxaii(re)
Perfective
Stem {moiin+” / momé+” (&)} | {moém+/ moéxa+}
Present noiay noény
noiaémn IS8
monaér MOENET
MOUIEM oéeM
noinére noénere
MOUAYT MOEIyT
Past HOIIEN noéxan
o1 moéxasna
IOIILIO moéxaso
MOILIHA moéxaiau
Infinitive HOUTH noéxaTh
Imperative | noiins(te) oe3xamn(re)

Pacckas: Yactb CemHaguaras (Fpammaruka)-2




Pacckas — 17-a yactb (Fpammaruka)

|
Comments on forms of Verbs of Motion:

1) The Non-Determined forms (xomn+ and é37u+) are garden-variety m-stem verbs, both of which have mutation
of 1 > k& in the a-form.

2) The Determined forms are both rather odd double-stem verbs. {én+/ éxa+} is more or less normal, except for
the Imperative moe3:kaii/Te, while the Determined form whose Infinitive is maTn is really wacky. The
Present stem is ma+’, while the Past Tense forms are méa” (€), muia, muto, mun. (But if you think about it,
English has a crazy Past Tense for go: went. If it’s any help, the m in mén resembles the w in went.)

3) The Perfective is based on the Determined form — basically you just add the prefix mo-. For marn, the u > i
in all forms, and in the Infinitive the x disappears. Got all that?

Why Motion Verbs Are Problematic: (At Least) Four Verbs for Go

One of the main reasons that Verbs of Motion can be difficult is that there are two rather tricky distinctions which
must be made, neither of which exists in English: 1) Riding vs. Walking (which we covered in Lesson 45, and see
below) and; 2) “Determined” (mar# / éxatb) vs. “Non-Determined” (xoxiTh / é3auTh) motion. This means that
there are (at least) four possibilities for go.

In this lesson, we’ll ignore the second distinction (“Determined” vs. “Non-Determined”), which is probably the

trickier of the two. (Not to worry, we’ll get to this in the very next lesson.)

Let’s quickly review distinction between é3auTh / éxaThb / moéxate (motion specifically by vehicle) and xogiTn /
uaTH / moity (motion either on foot or by vehicle).
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S17.b Riding vs. Walking (Review from Lesson 45)

‘Go’ in Russian: Riding vs. Walking (or Riding)
Mei é3auam B MockBy vs. Mbl X0a#lJM B KUHO

Notice that in the English version of the above two sentences the verb is the same: We went to Moscow /| We went
to the movies. In Russian, different verbs are used to distinguish between travel that must be by vehicle from
travel which is either on foot or by vehicle.

Clues indicating when to use é3guTb / éxaTb / noéxaTtb vs. xoguTb / NATU / NONTH

MUST BE BY VEHICLE EITHER ON FOOT OR BY VEHICLE
é3anTb / éxatb / noéxartb XoouTb / nATU / NONUTH
Context clues: Context clues:
1. Geographical place name (8 Mocksy, B 1. Destination is an “event” (B KuHO, Ha 0aJéT, Ha
TpéuToH, Ha TyHY Moon) BEICTaBKY) or a “landmark™ (B 6ubnmotéxy, B

MarasuH, B My3¢H)

2. A vehicle is mentioned: Use Ha + 2. Use of the Adverb memkom on foot.
Prepositional Case (e.g., Ha MamHe, HA
noesne) or bare Instrumental (ManiHoOM,
noe3nom). Also, if you see someone in a
car/train/bus, you must use a “vehicle”
verb.

Desire to specifcally emphasize vehicle or walking (Ter xomvn Tynd? Her, s é3ami.)

So, Mitma ceréaust uaér Ha onepy does not imply that he plans to walk there. Even if he is going to drive (or
take the train), and you know that he’s going to drive, you should still use maér because there is no reason to
emphasize how he’s going to get there and back.

On the other hand, if you mention the geographical place name, you must use a “vehicle” verb: Mima ceréaust
éner B ®uaanéanduro Ha omepy. The place name “trumps” the event.

Curious fact: With the noun gdua you must use “vehicle” verbs é3guTn/éxarb/moéxaTth because by definition a
A4au4a is something out in the countryside, to which one must drive: MbI Buepa €é3auu Ha Aavy.

Some more examples:

Kyna tet unéms? (Meeting someone walking down *Where are you headed?

the street)

Kyna te1 énemis? (Meeting someone on the train) *Where are you headed?

A cer6aus uny Ha Onepy YalkOBCKOTO. I'm going to a Tchaikovsky opera today.
JIéTom 51 émy B Cubupsb. I'm going to Siberia this summer.
Buepa onr é3mumu B Hero-Mopk. They went to New York yesterday.

|
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Buepa Mb1 X0y B KUHO. We went to the movies yesterday. (It may have
been in New York.)

Ml éxanu u3 Mocksrl B K¥ies moe3goM. We took the train from Moscow to Kiev.

On Buepa xoaun B TpéHToH nemkom! He walked to Trenton (and back) yesterday!

*Tomorrow we’ll discuss why where are you headed (as opposed to going) is the best way to translate these
sentences.

@ Choose between Riding and Walking (or Riding)

Example: I'ne 61 Ob11 Buepa? (TpéHTOH) O A é30unu 6 Tpenmon.
Kyna ona é3nuna nérom? (Poccris) O Ona é30una 6 Pocctiro.
Ha uém Murts é3qun? (Mamiina) O Mums é30un na mawuHe.

I'me bops 6bu1 Buepd? (Kamudophwst) I'me 6puta Buepa Harama? (kuHO)

I'me onn O6vuM Buepa? (maua)

2

I'me onn 6pun ceromus yrpom? (TpéHTOH) 4. T'nme onn O6puH ceroaHs yTpom? (6UOIMOTEKA)
6. Kyna Mama é3nuna nérom? (Kanana)
8

Ha yém onn é3mumun? (moesn) I'me Tb1 ObUTA? (MarasmH)

A o

I'ne o1 6117 (Hpro-M0pK) 10. Ha 9éwm BBI é3qmmn? (Mosl HOBast MalInHa)

S17.B A Single Round Trip Broken Down By Tense, Infinitive

Probably the most common (and most troublesome) point involving motion is expressing a single round trip. It’s
really not difficult. Honest! The only thing that makes it somewhat tricky — and illogical in our opinion — is that
different forms (Non-Determined vs. Determined vs. Perfective) are used depending on the Tense (or for an
Infinitive).

In other words you cannot simply take Past Tense Koctst é3nui B MockBy Kostya went to Moscow (one time)
and change the tense on é3ama (the Non-Determined form) to get Future Kostya will go to Moscow. The sentence
Kocta oyner é3aut B MockBy (with the Future of Imperfective é3qutn) has a different meaning and does not
mean Kostya will go to Moscow (one time). Instead, as we will see below, you need to use a different Verb, the
Determined form: Kécts éner B MockBy is the Future of Kécts é3aua B Mocksy. Is this logical? Heck no!
(And we’re only using “heck” to be polite.) Ho uto e nénats?!

We strongly suggest that you memorize the following (rather short) examples — or at least one from each group.

Past (Completed): “Non-Determined”  é3auTb / xoQUTb

A single round trip in the past can be expressed with a Verb of Motion (é3auTh / XoauTh) or with the Verb be.
Thus, you can say either MbI Buep4 Xoaijin Ha CKeNTAKJIb or MBI BUepa ObLIN HA CKeNTAKJIE.

B mapte Mo poxutenu €301 B MOCKBY. My parents went to Moscow in March.

MBI Buepa XoAUIH Ha OTIepy. We went to the opera yesterday.
- —
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Past (In Progress): Perfective noéxartb / nonTH

The Past Perfective is used when a person has left but not yet returned (but is expected to return in the not too
distant future).

Mama noéxana B Hero-Mopk. Oua BepHETCS OUeHb *Masha left for New York. She won’t be back until

MO3HO. late.

Ko ger noma. OH momén B Mara3uH 3a ra3éToi. Kolya's not home, He went to the store for the
newspaper.

*As we will see when we examine Prefixed Verbs of Motion, there are several ways of saying left for.

Here are the four ways of saying She went...:

She went to the store / Moscow...
and is back: “Non-Determined” Past and is still gone: Perfective Past
Ona xoauia B MarasuvH. OHA4 1101114 B MarasyH.
Omna é3muna B MOCKBY. Oné moéxana B MOCKBY.
Present (as Future): “Determined” éxaTtb / uatm

To some extent, a round trip cannot really be “in progress” because you cannot simultaneously be making both
legs of the trip. In any case, the Present Tense of “Dtermined” Verbs is used to describe a single round trip which
is either begun or, much more commonly, which is intended for the future. Notice that in English we also use a
Present Tense Verb to describe a future action — just look at the translations:

CeroHs BEUSpOM 5 My Ha OANET. I'm going to the ballet tonight.
JIéTom Kuipa éaer B [apixk. Kira is going to Paris this summer.
Future: Perfective (or “Determined): noéxaTb (éxaTb) / NOUTU (MATN)

As we mentioned directly above, to express a future single round trip you can use a Present Tense “Determined”
Verb. In addition, you can also use a Perfective Verb. The difference between using Imperfective “Determined”
(éxarp / mari) and Perfective (moéxats / moiiTn) to express a future single round trip is rather subtle. We
suggest you use the Imperfective “Determined”, though the Perfective is 100% grammatical.

Korna on noviaér (uaér) B Marasus? When is he going to the store?

[Tama noénet (émet) B JIOHIOH O€3 KEHEL Pasha is going to London without his wife.
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Infinitive:  (Positive) Perfective: noéxatb / NONTn
(Negative) “Determined” éxartb / uatu

With positive statements, use a Perfective Infinitive:

51 d4yeHb X04y NOWTH HAa HOBYIO BEICTaBKy Ban-I"0ra. [ really want to go to the new Van Gogh exhibit.

Ona cobupaetncs moé¢xath B Caxapy. She’s planning on going to the Sahara.
With negative statements, use an Imperfective “Determined” Infinitive.

OH HUKyAa HE XOUeT UATH. He doesn’t want to go anywhere.

S He cobuparock éxarb B bocToH. I don’t plan on going to Boston.

Actually this Positive=Perfective, Negative=Imperfective applies to almost all Infinitives, not just to Verbs of
Motion.

It is worth noting what forms we did not see above:

No “Determined” Past Tense (éxan, éxana, éxao, éxaxu / mén, mia, 1o, IITH)

No “Non-Determined” Present (€3ky, €300T, €34T / X0XKY, XOAHIIb, XOIST)

No “Non-Determined” or “Determined” Future (6ynem é3auth, OynyT éxatb / OyAay XOAUTh, OYAEUIh HIITH)
No “Non-Determind” Infinitive (é3auTh / XOIUATH)

We’ll see how these forms are used in the next lesson, when we move beyond a single round-trip.

@ MNepeBeanTe Ha pyCCKUN.
1. We went to Petersburg in the winter. 2. Who’s going to Moscow in the summer?
3. For some reason, he doesn’t want to go to Alaska. 4. I’m planning on going to France in June.
5. Treally want to go to that concert. 6. 1 went to the opera on Saturday.
7. Gera just T6abKko uto left for Trenton. He’ll be 8. We’re going to a play on Saturday.
home around 9:00.
9. We’re not planning on going to the lecture. 10. Vika is not home. She went to the library.
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S17. Practice Sentences

@ HoBble cnosa n3 pacckasa:

Tperbakoska 1. Mgl ceromus uném B TpeThsKOBKY. 1. We’re going to the Tretyakovsky gallery
today.
Tyna 2. S5l buens xouy HOUTH TYAA. 2. Ireally want to go there.
KaK J100patbest 3. TroI 3H4eIb KaK JOOPATHCS 10 3. Do you know how to get to Red Square.
AV 9
Kpacuoid nnomam? 4. Do you remember how to get to the
4. BsI HE TOMHUTE, KaK JOOPATHCS 10 Hilton hotel?
TOCTAHUIIBI XUITOH?
He pa3 5. S ue pas é3nuna B ﬁCHym Ionsay. 5. I've been to Yasnaya Polyana several
. times.
6. OH He pa3 KCHUICA.
6. He got married several times.
cami+...ca// {can+ // 7. Camiics! 7. Sit down.
cén+} (Inf cecthb ., ,
by ) 8. Omna céna Ha IUBaH. 8. She sat down on the sofa.
aBTOOYC 9. S gacro é3xy Ha aBTOOYCE. 9. I take the bus a lot.
10. Kyna unér 3toT aBToOYC? 10. Where does this bus go?
rajepes 11. B Helo-Hopke Ouens MHOrO 11. In NY there are a lot of interesting
WHTEPECHBIX ranepéii. galleries.
HOMeEp 12. 1o aBTO0YC HOMEp IIECThACCAT 12. Is this bus number 64?
4eTrIpe?
undpa (Gen PI: undp 13. UzBunM, 1 nepemyTan quQphL. 13. Sorry, I got the numbers mixed up.
(no Cluster Buster))
MITALHS 14. Mo msins pabOTaeT B MUATHIIHH. 14. My uncle works in the police deparment.
(Most likely this implies he is a cop.)
3BOHM+ // 110~ 15. A emy no3BoHIO Ha paboOTy. 15. I’ll call him at work.
16. He 3BOHM MHE TOMOH. 16. Don’t call me at home.
omno/ka (o) 17. OH 0€e3 KOHIIA nénaeT OMIOKH. 17. He constantly makes mistakes.
1o oIOKe 18. A mo ommnoke B3a71 MUTHHY KHUTY. 18. Itook Mitya’s book by mistake.
nénaii+ // c- ommoKy
HE TOT (HE TO, He Ta) 19. 4 B34 HE TOT KITIOY. 19. 1 took the wrong key.
m 20. 51 He 3HAIO, TOHPABHIICS JIX MY 20. Idon’t know whether he liked the movie.
(uIBpM.
crozna 21. Unu crona! 21. Come here.
22. CkOIbKO BBI €xaiu croaa? 22. How long did it take you to get here?
onasapiBai+ // ono3ndi+ | 23. OH Bcerna Oma3abIBacT. 23. He's always late.
Ha + fime expression 24, MbI 0037141 Ha IECSATh MUHYT. 24. We were ten minutes late.

in ACC

B/Ha + place/event in
ACC
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3aKpbI+...CH }
OTKPBIBAI+...Cst //
{OTKpO#+...co1/
OTKPBI+...CS }

BOCBEMOTO.

T0JITOpa 25. Er6 mammna B mostopa pasa gopoxe | 25. His car is 1% times more expensive than
MOEi. mine.
MAJIo 26. Y Hac OueHb MAJIO JIEHET 26. We have very little money.
HaYMHAM+..cs1 // 27. Kornmd HaunHAETCS KOHIIEPT? 27. When does the concert start?
{HauH+ ..o [ Haua+...o} | 28 Dpipm maunmAeTes MUHYT 4épe3 28. The movie starts in ten minutes.
JIECSTh.
MOCKBHY ~ MOCKBUYKA 29. Ecmu 51 He ommbarock, Bépa — 29. If I'm not mistaken, Vera is a Muscovite.
MOCKBHYKA. . . .
30. She married a rich Muscovite.
30. OH4 BBITIIKA 3aMYyX 3a OOTATOTO
MOCKBHUYA.
COBEpIICHCTBO 31. Orot dunbeM pdcTO COBepIIEHCTBO. | 31. This film is simply perfection.
3aKpBIBAN-+...Cs1 // 32. MarasyH 3aKpbIBA€TCs B ceMb 4acOB. | 32. The store closes at 7:00.
{3aKpoii+...cs/ , , i
33. bubmmoTéka OTKPBUIACH B TIOJ- 33. The library opens at 7:30.
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2S5 YnpakHéHue 2

Story: Part 17 — Homework

Answer the questions about the story:

Circle the correct form and fill in the endings

1. Jlérom M=l [éX / é3n ] 8 Mocks

2. 3aBTpa MBI [H] / X0 ] Ha BEICTaBK

3. S 6uens xouy [€37 / Ioéx ] B [leTepOypr

4. JIérom MHI [X07 / é3n ] B Uukar

5. Jlapser Het noma. OHA [x0n / ot ] B 6uOnHOTéK
6. +Jlaparame e ObI1a? - S [ / xXom | B kuH

S17-11
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7.

10.

11.

12.

13.

14.

15.

16.

25 YnpaxHéHue 3 [lepeBeayTe Ha PYyCCKUiA:

1.

2. He bought the wrong book.

3. They were around 20 minutes late for (to) the concert.

Omna pemmna [€x

[Touemy oHM He XOTAT [OéXa

B Méae mbl [Oynem €3au

Me1 Buepa [xonu

A cetiuac [Oyay €31u

[Touemy oH He xOYeT [H]

Me1 Buepa [€31u

51 6uensb xouy [moéxa

JIérom oHM [mn

Ha cnénmyromeit Henéne Mul [€1

The museum closes at 4:45.

S$17-12

Uma
/ moéx | Ha mau
/ éxa ] B [TerepOypr
/ moén ] B Cubnp
/ éxa ] B xuH
/ moén ] B marasuu
/ xomu ] na 6aner
/ Xxomu |} HLIO-VI(')pK
/ IOUT ] Ha 3TOT PUITEM
/ €3m ] B Kanmnhopau
/ é3mu ] B Texac.




